

Currency Futures & Options Matched Trades

Report for 14/03/2012

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand		Buy/ Sell
9:00:05	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	750	750,000	7.5431	(5,657,325.00)	Member	Sell
9:00:09	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	7.5665	7,566,500.00	Member	Buy
9:00:24	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	7.5705	3,785,250.00	Member	Buy
9:00:24	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	7.5705	(3,785,250.00)	Client	Sell
9:01:23	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.4665	746,650.00	Member	Buy
9:02:33	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	75	75,000	7.6431	(573,232.50)	Member	Sell
9:02:33	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	750	750,000	7.5531	5,664,825.00	Client	Buy
9:05:17	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.6705	191,762.50	Member	Buy
9:05:17	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.6705	(191,762.50)	Client	Sell
9:09:19	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.6700	(76,700.00)	Client	Sell
9:09:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	415	415,000	7.6700	(3,183,050.00)	Client	Sell
9:11:10	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	75	75,000	7.6700	(575,250.00)	Member	Sell
9:12:08	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.6700	(767,000.00)	Member	Sell
9:27:48	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.5695	75,695.00	Member	Buy
9:27:48	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	110	110,000	7.5685	(832,535.00)	Client	Sell
9:27:48	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	110	110,000	7.6686	843,546.00	Client	Buy
9:27:48	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.6695	(76,695.00)	Client	Sell
9:32:03	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	55	55,000	7.5755	416,652.50	Member	Buy
9:32:03	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	55	55,000	7.5755	(416,652.50)	Client	Sell
9:32:03	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	55	55,000	7.6790	(422,345.00)	Member	Sell
9:32:03	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	55	55,000	7.6790	422,345.00	Client	Buy
9:50:07	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	150	150,000	7.6730	(1,150,950.00)	Member	Sell
9:51:18	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	150	150,000	7.6670	(1,150,050.00)	Member	Sell
9:51:18	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	900	900,000	7.6700	6,903,000.00	Client	Buy
9:54:44	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6665	(7,666.50)	Member	Sell
9:54:45	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.5665	7,566.50	Client	Buy
10:00:01	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	40	40,000	7.5635	302,540.00	Member	Buy
10:00:01	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	40	40,000	7.5635	(302,540.00)	Client	Sell
10:02:44	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	99	99,000	7.6685	(759,181.50)	Member	Sell
10:02:44	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	99	99,000	7.5685	749,281.50	Member	Buy
10:06:56	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	18,048	18,048,000	7.5264	135,836,467.20	Member	Buy
10:06:56	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	18,048	18,048,000	7.6255	(137,625,024.00)	Member	Sell

Page 1 of 20 2012/03/14, 06:02:45PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
10:06:56	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	18,048	18,048,000	7.5264	(135,836,467.20)	Client	Sell
10:06:56	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	18,048	18,048,000	7.6255	137,625,024.00	Client	Buy
10:18:11	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	749	749,000	7.5565	(5,659,818.50)	Member	Sell
10:18:11	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	749	749,000	7.5565	5,659,818.50	Member	Buy
10:18:30	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.5615	(1,890,375.00)	Member	Sell
10:18:30	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.5615	1,890,375.00	Member	Buy
10:18:38	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.5625	(1,890,625.00)	Member	Sell
10:18:38	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.5625	1,890,625.00	Member	Buy
10:25:49	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	351	351,000	7.5666	(2,655,876.60)	Client	Sell
10:25:49	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	4,543	4,543,000	7.5666	34,375,063.80	Member	Buy
10:25:49	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4,543	4,543,000	7.6668	(34,830,272.40)	Member	Sell
10:26:10	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.6580	1,914,500.00	Member	Buy
10:26:10	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	180	180,000	7.6575	1,378,350.00	Member	Buy
10:26:58	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	112	112,000	7.5540	(846,048.00)	Client	Sell
10:26:58	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	112	112,000	7.5540	846,048.00	Member	Buy
10:31:04	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	430	430,000	7.6615	3,294,445.00	Member	Buy
10:31:04	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	430	430,000	7.6615	(3,294,445.00)	Client	Sell
10:36:32	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.5666	(113,499.00)		Sell
10:36:33	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	45	45,000	7.5666	(340,497.00)		Sell
10:36:33	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	171	171,000	7.5666	(1,293,888.60)	Client	Sell
10:36:33	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	304	304,000	7.5666	(2,300,246.40)	Client	Sell
10:36:33	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1,440	1,440,000	7.5666	(10,895,904.00)		Sell
10:36:33	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	489	489,000	7.5666	(3,700,067.40)	Client	Sell
10:36:33	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	630	630,000	7.5666	(4,766,958.00)	Client	Sell
10:36:33	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	153	153,000	7.5666	(1,157,689.80)	Client	Sell
10:36:33	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	282	282,000	7.5666	(2,133,781.20)		Sell
10:36:33	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	663	663,000	7.5666	(5,016,655.80)	Client	Sell
10:39:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	489	489,000	7.6791	(3,755,079.90)	Member	Sell
10:39:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	304	304,000	7.6791	(2,334,446.40)	Member	Sell
10:39:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	171	171,000	7.6791	(1,313,126.10)	Member	Sell
10:39:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1,440	1,440,000	7.6791	(11,057,904.00)		Sell
10:39:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	45	45,000	7.6791	(345,559.50)	Member	Sell
10:39:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	351	351,000	7.6791	(2,695,364.10)		Sell
10:39:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.6791	(115,186.50)	Member	Sell
10:39:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	663	663,000	7.6791	(5,091,243.30)	Member	Sell
10:39:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	153	153,000	7.6791	(1,174,902.30)		Sell
10:39:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	282	282,000	7.6791	(2,165,506.20)		Sell
10:39:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	630	630,000	7.6791	(4,837,833.00)		Sell
10:39:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	45	45,000	7.6791	345,559.50	Client	Buy
10:39:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.6791	115,186.50	Client	Buy
10:39:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	351	351,000	7.6791	2,695,364.10	Client	Buy
10:39:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1,440	1,440,000	7.6791	11,057,904.00	Client	Buy
10:39:11	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	304	304,000	7.6791	2,334,446.40	Client	Buy
10:39:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	171	171,000	7.6791	1,313,126.10	Client	Buy
10:39:11	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	489	489,000	7.6791	3,755,079.90	Client	Buy
10:39:11	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	282	282,000	7.6791	2,165,506.20	Client	Buy
10.03.11	ψ / 1\ 10/00/2012	i oreign Exchange i uture		0.00	ı	1,000	202	202,000	1.0131	2,100,000.20	Ollerit	Биу

Page 2 of 20 2012/03/14, 06:02:45PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
10:39:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	153	153,000	7.6791	1,174,902.30	Client	Buy
10:39:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	630	630,000	7.6791	4,837,833.00	Client	Buy
10:39:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	663	663,000	7.6791	5,091,243.30	Client	Buy
10:40:44	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.6685	(38,342.50)	Member	Sell
10:40:44	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.6685	38,342.50	Client	Buy
10:41:09	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.5540	(377,700.00)	Client	Sell
10:41:09	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.5540	377,700.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.6540	382,700.00	Client	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.6540	(382,700.00)	Member	Sell
	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.5750	(1,893,750.00)	Member	Sell
	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.5750	1,893,750.00	Member	Buy
	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.5750	(1,893,750.00)	Member	Sell
	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.5750	1,893,750.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.6640	(38,320.00)	Member	Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.6640	38,320.00	Client	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.6570	(22,971.00)	Member	Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.6570	22,971.00	Client	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.6500	22,950.00	Client	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.6500	(22,950.00)	Member	Sell
	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.5500	(226,500.00)	Client	Sell
	\$ / R 19/03/2012				1	1,000	30	30,000	7.5500	226,500.00	Member	
	\$ / R 18/06/2012	Foreign Exchange Future		0.00 0.00	1	1,000	250		7.6638	(1,915,950.00)	Member	Buy Sell
	\$ / R 18/06/2012	Foreign Exchange Future			1		250	250,000		,		
	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	25,000	7.7638	(194,095.00)		Sell
	•	Foreign Exchange Future		0.00	•	1,000		250,000	7.6738	1,918,450.00	Client	Buy
	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	220	220,000	7.5490	(1,660,780.00)	Client	Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	430	430,000	7.6585	(3,293,155.00)	Member	Sell
	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	235	235,000	7.5500	1,774,250.00	Member	Buy
	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.5500	(75,500.00)	Client	Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.6520	76,520.00	Client	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	235	235,000	7.6520	(1,798,220.00)		Sell
	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	780	780,000	7.5490	(5,888,220.00)	Client	Sell
	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	225	225,000	7.5500	(1,698,750.00)	Client	Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	225	225,000	7.6520	1,721,700.00	Client	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	7.6635	7,663,500.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.5985	759,850.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	7.6570	(7,657,000.00)	Client	Sell
12:04:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	300	300,000	7.6717	(2,301,510.00)		Sell
12:04:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	300	300,000	7.6717	2,301,510.00	Client	Buy
12:07:17	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.5606	756,060.00	Member	Buy
	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	199	199,000	7.6008		Client	Sell
12:07:17	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	199	199,000	7.6997	1,532,240.30	Client	Buy
12:07:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.6580	765,800.00	Member	Buy
12:09:47	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.5530	(75,530.00)	Client	Sell
12:09:47	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.5530	75,530.00	Member	Buy
12:10:13	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	17	17,000	7.5530	128,401.00	Member	Buy
12:10:13	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	17	17,000	7.5530	(128,401.00)	Client	Sell

Page 3 of 20 2012/03/14, 06:02:45PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
12:10:43	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	18	18,000	7.5660	136,188.00	Client	Buy
12:11:29	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.5505	(37,752.50)	Client	Sell
12:11:29	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.5505	37,752.50	Member	Buy
12:11:45	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	125	125,000	7.5520	(944,000.00)	Client	Sell
12:11:45	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	125	125,000	7.5520	944,000.00	Member	Buy
12:18:17	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	32	32,000	7.6610	245,152.00	Member	Buy
12:20:54	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.6719	(76,719.00)	Member	Sell
12:20:54	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.6719	76,719.00	Client	Buy
12:44:44	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.5446	(1,886,150.00)	Member	Sell
12:44:44	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.5446	1,886,150.00	Client	Buy
12:47:32	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.6720	23,016.00	Client	Buy
12:47:32	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.6720	(23,016.00)	Client	Sell
12:53:51	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.5936	189,840.00	Member	Buy
12:53:51	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.6530	(1,913,250.00)	Client	Sell
13:10:03	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.5660	7,566.00	Client	Buy
13:10:03	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6545	(7,654.50)	Client	Sell
13:10:03	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6610	7,661.00	Client	Buy
13:10:03	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.5530	(7,553.00)	Client	Sell
13:10:03	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1,186	1,186,000	7.6545	9,078,237.00	Member	Buy
13:10:03	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5,026	5,026,000	7.6610	(38,504,186.00)	Member	Sell
13:10:03	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1,186	1,186,000	7.5660	(8,973,276.00)	Member	Sell
13:10:03	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	5,026	5,026,000	7.5530	37,961,378.00	Member	Buy
13:10:51	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	17	17,000	7.6720	(130,424.00)	Client	Sell
13:10:51	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	17	17,000	7.6720	130,424.00	Member	Buy
13:10:51	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.6730	53,711.00	Member	Buy
13:10:51	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.6730	(53,711.00)	Client	Sell
13:18:39	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.5800	7,580.00	Member	Buy
13:18:39	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.5800	(7,580.00)	Client	Sell
13:27:08	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6815	7,681.50	Member	Buy
13:27:08	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6815	(7,681.50)	Client	Sell
13:31:53	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.6805	115,207.50	Client	Buy
13:31:54	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.6805	(115,207.50)	Member	Sell
13:38:48	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.5874	(7,587.40)	Client	Sell
13:38:48	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.5874	7,587.40	Member	Buy
13:39:07	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	45	45,000	7.5660	340,470.00	Client	Buy
13:39:07	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	270	270,000	7.5660	2,042,820.00	Client	Buy
13:39:07	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.5660	37,830.00	Client	Buy
13:39:07	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.5660	151,320.00	Client	Buy
13:39:07	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.5660	189,150.00	Client	Buy
13:39:07	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	90	90,000	7.5660	680,940.00	Client	Buy
13:39:07	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.5660	226,980.00	Client	Buy
13:39:07	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.5660	756,600.00	Client	Buy
13:39:07	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.5660	52,962.00	Client	Buy
13:39:07	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	, 1	1,000	7.5660	7,566.00	Client	Buy
13:39:07	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.5660	15,132.00	Client	Buy
13:39:07	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.5660	30,264.00	Client	Buy
10.00.01	Q. 10 10/00/2012	r oroigir Exonange r atale		3.00	•	1,300	7	7,000	7.0000	50,204.00	Juont	Duj

Page 4 of 20 2012/03/14, 06:02:45PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
13:39:07	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.5660	37,830.00	Client	Buy
13:39:07	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	330	330,000	7.5660	2,496,780.00	Client	Buy
13:39:07	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	26	26,000	7.5660	196,716.00	Client	Buy
13:39:07	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.5660	75,660.00	Client	Buy
13:39:07	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	198	198,000	7.5660	1,498,068.00	Client	Buy
13:39:07	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	16	16,000	7.5660	121,056.00	Client	Buy
13:39:08	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.5660	7,566.00	Client	Buy
13:39:20	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.6900	(230,700.00)	Client	Sell
13:39:20	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.6900	230,700.00	Member	Buy
13:40:31	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	7.5530	(3,021,200.00)	Client	Sell
13:40:31	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1,650	1,650,000	7.5530		Client	Sell
13:40:31	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.5530	(1,888,250.00)	Client	Sell
13:40:31	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	190	190,000	7.5530	(1,435,070.00)	Client	Sell
	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	128	128,000	7.5530	*		Sell
13:40:32	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	80	80,000	7.5530	(604,240.00)		Sell
13:40:32	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	150	150,000	7.5530	(1,132,950.00)	Client	Sell
	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	118	118,000	7.5530	*		Sell
13:40:32	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	60	60,000	7.5530			Sell
	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.5530	(377,650.00)		Sell
13:40:32	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	45	45,000	7.5530	(339,885.00)		Sell
13:40:32	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	80	80,000	7.5530			Sell
13:40:32	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.5530	(755,300.00)		Sell
	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.5530			Sell
13:40:32	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	150	150,000	7.5530	(1,132,950.00)		Sell
13:40:32	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	43	43,000	7.5530	(324,779.00)		Sell
13:40:32	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	60	60,000	7.5530			Sell
	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	150	150,000	7.5530			Sell
13:40:32	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	150	150,000	7.5530	(1,132,950.00)	Client	Sell
13:40:32	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.5530	(377,650.00)		Sell
	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	55	55,000	7.5530	(415,415.00)		Sell
13:40:32	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.5530	(377,650.00)		Sell
13:40:32	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.5530			Sell
13:40:33	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	42	42,000	7.5530			Sell
13:40:33	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	34	34,000	7.5530	(256,802.00)		Sell
13:40:33	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	19	19,000	7.5530	(143,507.00)		Sell
	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.5530	(188,825.00)		Sell
	\$ / R 19/03/2012 \$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.5530	(226,590.00)		Sell
	\$ / R 19/03/2012 \$ / R 19/03/2012	· ·		0.00	1	1,000		16,000	7.5530			Sell
	\$ / R 19/03/2012 \$ / R 19/03/2012	Foreign Exchange Future Foreign Exchange Future		0.00	1	1,000	16 40	40,000	7.5530	(120,848.00) (302,120.00)		Sell
		Foreign Exchange Future					40					
	\$ / R 19/03/2012 \$ / R 19/03/2012	· ·		0.00	1 1	1,000	20	20,000 22,000	7.5530 7.5530	(151,060.00)		Sell
	\$ / R 19/03/2012 \$ / B 10/03/2013	Foreign Exchange Future		0.00		1,000	22			(166,166.00)		Sell
	\$ / R 19/03/2012 \$ / B 10/03/2013	Foreign Exchange Future		0.00	1	1,000	40	40,000	7.5530	(302,120.00)		Sell
	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.5530	(151,060.00)		Sell
	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.5530	(151,060.00)		Sell
13:40:33	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	18	18,000	7.5530	(135,954.00)		Sell
13:40:33	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.5530	(226,590.00)	Client	Sell

Page 5 of 20 2012/03/14, 06:02:45PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
13:40:33	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	38	38,000	7.5530	(287,014.00)	Client	Sell
13:40:33	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.5530	(226,590.00)	Client	Sell
13:40:33	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.5530	(151,060.00)	Client	Sell
13:40:33	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.5530	(151,060.00)	Client	Sell
13:40:33	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.5530	(151,060.00)	Client	Sell
13:40:33	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.5530	(226,590.00)	Client	Sell
13:40:33	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	40	40,000	7.5530	(302,120.00)	Client	Sell
13:40:33	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	31	31,000	7.5530	(234,143.00)	Client	Sell
13:40:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.5530	(30,212.00)	Client	Sell
13:40:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.5530	(37,765.00)	Client	Sell
13:40:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	8	8,000	7.5530	(60,424.00)	Client	Sell
13:40:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.5530	(75,530.00)		Sell
13:40:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.5530		Client	Sell
13:40:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.5530		Client	Sell
13:40:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.5530	(75,530.00)	Client	Sell
13:40:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.5530	(30,212.00)	Client	Sell
13:40:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.5530	(37,765.00)		Sell
13:40:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.5530	(52,871.00)		Sell
13:40:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	6	6,000	7.5530	* '	Client	Sell
13:40:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.5530	, ,	Client	Sell
13:40:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	14	14,000	7.5530		Client	Sell
13:40:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.5530	(37,765.00)	Client	Sell
13:40:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.5530	* '	Client	Sell
13:40:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.5530	(75,530.00)		Sell
13:40:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.5530	(37,765.00)	Client	Sell
13:40:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	13	13,000	7.5530	, ,	Client	Sell
13:40:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.5530		Client	Sell
13:40:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.5530	(37,765.00)	Client	Sell
13:40:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.5530	(37,765.00)	Client	Sell
13:40:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	8	8,000	7.5530	(60,424.00)		Sell
13:40:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.5530	, ,	Client	Sell
13:40:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.5530		Client	Sell
13:40:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.5530		Client	Sell
13:40:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	9	9,000	7.5530	(67,977.00)	Client	Sell
13:40:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.5530	(30,212.00)	Client	Sell
13:40:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	12	12,000	7.5530	(90,636.00)		Sell
	\$ / R 19/03/2012 \$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.5530	(30,212.00)		Sell
	\$ / R 19/03/2012 \$ / R 19/03/2012			0.00	1	1,000	7	7,000	7.5530			Sell
	\$ / R 19/03/2012 \$ / R 19/03/2012	Foreign Exchange Future Foreign Exchange Future		0.00	1	1,000	15	15,000	7.5530	(52,871.00) (113,295.00)		Sell
										,		
	\$ / R 19/03/2012 \$ / R 19/03/2012	Foreign Exchange Future		0.00 0.00	1 1	1,000	15 10	15,000 10,000	7.5530 7.5530	(113,295.00)		Sell
		Foreign Exchange Future				1,000				(75,530.00)		Sell
13:40:34	\$ / R 19/03/2012 \$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	9	9,000	7.5530 7.5530	(67,977.00)		Sell
	\$ / R 19/03/2012 \$ / B 10/03/2013	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.5530	(37,765.00)		Sell
	\$ / R 19/03/2012 \$ / B 10/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.5530	(7,553.00)		Sell
	\$ / R 19/03/2012 \$ / B 10/03/2013	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.5530	(7,553.00)		Sell
13:40:35	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.5530	(15,106.00)	Cilent	Sell

Page 6 of 20 2012/03/14, 06:02:45PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
13:40:35	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.5530	(7,553.00)	Client	Sell
13:40:35	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.5530	(22,659.00)	Client	Sell
13:40:35	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.5530	(15,106.00)	Client	Sell
13:40:35	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.5530	(22,659.00)	Client	Sell
13:40:35	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.5530	(22,659.00)	Client	Sell
13:40:35	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.5530	(7,553.00)	Client	Sell
13:40:35	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.5530	(22,659.00)	Client	Sell
13:40:35	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.5530	(22,659.00)	Client	Sell
13:40:35	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.5530	(22,659.00)	Client	Sell
13:40:35	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.5530	(7,553.00)	Client	Sell
13:40:35	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.5530	(7,553.00)	Client	Sell
13:40:35	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.5530	(7,553.00)	Client	Sell
13:40:35	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.5530	(7,553.00)	Client	Sell
13:40:35	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.5530	(7,553.00)	Client	Sell
13:40:35	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.5530	(22,659.00)	Client	Sell
13:40:35	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.5530	(22,659.00)	Client	Sell
13:40:35	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.5530	(22,659.00)	Client	Sell
13:40:35	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.5530	(7,553.00)		Sell
13:41:11	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	7.6081	7,608,100.00	Client	Buy
13:41:11	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	7.6081	(7,608,100.00)	Member	Sell
13:41:14	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6000	7,600.00	Member	Buy
13:41:14	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6000	(7,600.00)	Client	Sell
13:41:14	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.6025	(1,900,625.00)	Member	Sell
13:41:14	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.6025	1,900,625.00	Member	Buy
13:44:41	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.5940	(379,700.00)	Member	Sell
13:44:41	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.5940	379,700.00	Member	Buy
13:46:51	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6040	7,604.00	Member	Buy
13:46:51	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6040	(7,604.00)	Client	Sell
13:47:33	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1,650	1,650,000	7.6610	12,640,650.00	Client	Buy
13:47:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.6610	766,100.00	Client	Buy
13:47:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	150	150,000	7.6610	1,149,150.00	Client	Buy
13:47:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	60	60,000	7.6610	459,660.00	Client	Buy
13:47:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	150	150,000	7.6610	1,149,150.00	Client	Buy
13:47:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	7.6610	3,064,400.00	Client	Buy
13:47:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	150	150,000	7.6610	1,149,150.00	Client	Buy
13:47:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.6610	383,050.00	Client	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	55	55,000	7.6610	421,355.00	Client	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.6610	383,050.00	Client	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.6610	383,050.00	Client	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.6610	383,050.00	Client	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.6610	1,915,250.00	Client	Buy
13:47:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	60	60,000	7.6610	459,660.00	Client	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	80	80,000	7.6610	612,880.00	Client	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	118	118,000	7.6610	903,998.00	Client	Buy
13:47:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	128	128,000	7.6610	980,608.00	Client	Buy
13:47:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	190	190,000	7.6610	1,455,590.00	Client	Buy
10.71.07	ψ. Α ΙΟΙΟΟΙΖΟΙΖ	i oroign Exonange i utule		0.00	'	1,000	130	150,000	7.0010	1,400,000.00	JIICH	Day

Page 7 of 20 2012/03/14, 06:02:45PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
									1 1100			
13:47:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	80	80,000	7.6610	612,880.00	Client	Buy
13:47:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	150	150,000	7.6610	1,149,150.00	Client	Buy
13:47:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.6610	229,830.00	Client	Buy
13:47:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.6610	229,830.00	Client	Buy
13:47:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	38	38,000	7.6610	291,118.00	Client	Buy
13:47:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.6610	229,830.00	Client	Buy
13:47:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	40	40,000	7.6610	306,440.00	Client	Buy
13:47:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	31	31,000	7.6610	237,491.00	Client	Buy
13:47:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.6610	153,220.00	Client	Buy
13:47:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.6610	153,220.00	Client	Buy
13:47:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.6610	153,220.00	Client	Buy
13:47:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	40	40,000	7.6610	306,440.00	Client	Buy
13:47:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	22	22,000	7.6610	168,542.00	Client	Buy
13:47:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.6610	153,220.00	Client	Buy
13:47:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.6610	153,220.00	Client	Buy
13:47:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.6610	153,220.00	Client	Buy
13:47:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	45	45,000	7.6610	344,745.00	Client	Buy
13:47:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	18	18,000	7.6610	137,898.00	Client	Buy
13:47:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	42	42,000	7.6610	321,762.00	Client	Buy
13:47:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	34	34,000	7.6610	260,474.00	Client	Buy
13:47:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	19	19,000	7.6610	145,559.00	Client	Buy
13:47:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.6610	191,525.00	Client	Buy
13:47:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	43	43,000	7.6610	329,423.00	Client	Buy
13:47:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	40	40,000	7.6610	306,440.00	Client	Buy
13:47:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.6610	229,830.00	Client	Buy
13:47:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.6610	383,050.00	Client	Buy
13:47:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.6610	53,627.00	Client	Buy
13:47:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	16	16,000	7.6610	122,576.00	Client	Buy
13:47:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	12	12,000	7.6610	91,932.00	Client	Buy
13:47:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.6610	114,915.00	Client	Buy
13:47:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.6610	114,915.00	Client	Buy
13:47:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.6610	76,610.00	Client	Buy
13:47:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	9	9,000	7.6610	68,949.00	Client	Buy
13:47:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.6610	38,305.00	Client	Buy
13:47:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	13	13,000	7.6610	99,593.00	Client	Buy
13:47:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.6610	38,305.00	Client	Buy
13:47:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.6610	38,305.00	Client	Buy
13:47:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.6610	30,644.00	Client	Buy
13:47:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	8	8,000	7.6610	61,288.00	Client	Buy
13:47:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.6610	38,305.00	Client	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.6610	114,915.00	Client	Buy
13:47:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	9	9,000	7.6610	68,949.00	Client	Buy
13:47:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.6610	76,610.00	Client	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.6610	76,610.00	Client	Buy
13:47:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.6610	38,305.00	Client	Buy
13:47:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.6610	76,610.00	Client	Buy

Page 8 of 20 2012/03/14, 06:02:45PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand		Buy/ Sell
13:47:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.6610	38,305.00	Client	Buy
13:47:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	8	8,000	7.6610	61,288.00	Client	Buy
13:47:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.6610	76,610.00	Client	Buy
13:47:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.6610	38,305.00	Client	Buy
13:47:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.6610	38,305.00	Client	Buy
13:47:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	14	14,000	7.6610	107,254.00	Client	Buy
13:47:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.6610	76,610.00	Client	Buy
13:47:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.6610	53,627.00	Client	Buy
13:47:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	6	6,000	7.6610	45,966.00	Client	Buy
13:47:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.6610	38,305.00	Client	Buy
13:47:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.6610	22,983.00	Client	Buy
13:47:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.6610	30,644.00	Client	Buy
13:47:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6610	7,661.00	Client	Buy
13:47:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.6610	30,644.00	Client	Buy
13:47:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.6610	30,644.00	Client	Buy
13:47:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6610	7,661.00	Client	Buy
13:47:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.6610	22,983.00	Client	Buy
13:47:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.6610	22,983.00	Client	Buy
13:47:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6610	7,661.00	Client	Buy
13:47:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6610	7,661.00	Client	Buy
13:47:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6610	7,661.00	Client	Buy
13:47:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6610	7,661.00	Client	Buy
13:47:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6610	7,661.00	Client	Buy
13:47:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.6610	22,983.00	Client	Buy
13:47:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.6610	22,983.00	Client	Buy
13:47:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6610	7,661.00	Client	Buy
13:47:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6610	7,661.00	Client	Buy
13:47:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.6610	15,322.00	Client	Buy
13:47:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.6610	22,983.00	Client	Buy
13:47:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.6610	15,322.00	Client	Buy
13:47:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.6610	22,983.00	Client	Buy
13:47:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6610	7,661.00	Client	Buy
13:47:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.6610	22,983.00	Client	Buy
13:47:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.6610	22,983.00	Client	Buy
13:47:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.6610	30,644.00	Client	Buy
13:47:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.6610	22,983.00	Client	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.6610	30,644.00	Client	Buy
	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.6545	(53,581.50)		Sell
	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.6545	(765,450.00)		Sell
	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future		0.00	1 1	1,000	330 10	330,000 10,000	7.6545 7.6545	(2,525,985.00)		Sell
	\$ / R 18/06/2012 \$ / B 18/06/2012	Foreign Exchange Future		0.00		1,000	10			(76,545.00)		Sell
13:48:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	26	26,000	7.6545	(199,017.00)		Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	198	198,000	7.6545	(1,515,591.00)		Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	16	16,000	7.6545	(122,472.00)		Sell
13:48:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.6545	(38,272.50)		Sell
13:48:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.6545	(153,090.00)	Client	Sell

Page 9 of 20 2012/03/14, 06:02:45PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
13:48:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	45	45,000	7.6545	(344,452.50)	Client	Sell
13:48:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	270	270,000	7.6545	(2,066,715.00)	Client	Sell
13:48:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.6545	(191,362.50)	Client	Sell
13:48:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.6545	(229,635.00)	Client	Sell
13:48:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	90	90,000	7.6545	(688,905.00)	Client	Sell
13:48:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.6545	(38,272.50)	Client	Sell
13:48:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.6545	(30,618.00)	Client	Sell
13:48:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.6545	(15,309.00)	Client	Sell
13:48:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6545	(7,654.50)	Client	Sell
13:48:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6545	(7,654.50)	Client	Sell
13:48:47	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	7.6050	3,802,500.00	Client	Buy
13:48:47	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	7.6050	(3,802,500.00)	Member	Sell
13:58:20	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.5985	(759,850.00)	Member	Sell
13:58:20	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.5985	759,850.00	Member	Buy
14:01:21	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.6985	76,985.00	Member	Buy
14:01:21	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.6985	(76,985.00)	Client	Sell
14:03:39	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7025	(77,025.00)	Client	Sell
14:03:39	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7025	77,025.00	Client	Buy
14:05:50	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.7000	192,500.00	Member	Buy
14:07:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6030	(7,603.00)	Client	Sell
14:07:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6030	7,603.00	Member	Buy
14:07:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	90	90,000	7.7025	693,225.00	Member	Buy
14:07:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	90	90,000	7.7025	(693,225.00)	Client	Sell
14:12:47	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.7070	(1,926,750.00)	Member	Sell
14:12:47	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.7070	1,926,750.00	Member	Buy
14:17:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.5996	759,960.00	Member	Buy
14:17:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.5996	(759,960.00)	Client	Sell
14:18:04	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.7035	(53,924.50)	Member	Sell
14:18:04	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.7035	53,924.50	Client	Buy
14:19:38	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	, 25	25,000	7.7050	192,625.00	Member	Buy
14:20:22	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	84	84,000	7.6055	638,862.00	Member	Buy
14:20:22	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	84	84,000	7.6055	(638,862.00)	Client	Sell
14:21:48	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6110	(7,611.00)	Client	Sell
14:21:48	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6110	7,611.00	Member	Buy
14:21:49	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.6115	190,287.50	Member	Buy
14:21:58	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	40	40,000	7.7125	308,500.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	40	40,000	7.7125	(308,500.00)	Client	Sell
14:22:11	\$ / R 19/03/2012	•		0.00	1	1,000	500	500,000				Sell
14:22:11	\$ / R 19/03/2012 \$ / R 19/03/2012	Foreign Exchange Future Foreign Exchange Future		0.00	1	1,000	500	500,000	7.6168 7.6168	(3,808,400.00) 3,808,400.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00		1,000	500	500,000	7.7169	(3,858,450.00)		
		•			1 1			500,000				Sell
14:22:12		Foreign Exchange Future		0.00		1,000	500		7.7169	3,858,450.00	Member	Buy
14:22:38	\$ / R 18/06/2012 \$ / B 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7160 7.7160	77,160.00	Member	Buy
14:22:38	\$ / R 18/06/2012 \$ / R 10/03/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7160	(77,160.00)		Sell
14:25:02	\$ / R 19/03/2012 \$ / B 10/03/2013	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6260	(7,626.00)		Sell
14:25:03	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6290	(7,629.00)		Sell
14:25:03	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	33	33,000	7.6300	(251,790.00)	Client	Sell

Page 10 of 20 2012/03/14, 06:02:45PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
14:27:48	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.7323	(773,230.00)	Member	Sell
14:27:48	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.7323	773,230.00	Client	Buy
14:28:45	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	7.5743	(7,574,300.00)	Client	Sell
14:28:45	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	7.5743	7,574,300.00	Member	Buy
14:30:11	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	5,200	5,200,000	7.6041	39,541,320.00	Member	Buy
14:30:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5,200	5,200,000	7.7046	(40,063,920.00)	Member	Sell
14:30:11	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	5,200	5,200,000	7.6041	(39,541,320.00)	Client	Sell
14:30:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5,200	5,200,000	7.7046	40,063,920.00	Client	Buy
14:30:23	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6350	(7,635.00)	Client	Sell
14:30:23	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.6370	763,700.00	Client	Buy
14:30:23	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	64	64,000	7.6409	(489,017.60)	Member	Sell
14:32:16	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.7404	193,510.00	Member	Buy
14:32:16	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.7133	(771,330.00)	Client	Sell
14:33:12	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.6370	763,700.00	Member	Buy
14:33:12	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.6370	(763,700.00)	Client	Sell
14:35:00	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6470	(7,647.00)	Client	Sell
14:35:00	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6470	7,647.00	Member	Buy
14:37:39	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.7521	(1,938,025.00)		Sell
14:41:04	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.6425	15,285.00	Member	Buy
14:41:04	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.6425	(15,285.00)		Sell
14:41:04	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.7425	15,485.00	Client	Buy
14:41:04	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	750	750,000	7.7420	(5,806,500.00)	Client	Sell
14:41:04	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	748	748,000	7.7420	5,791,016.00	Member	Buy
14:42:00	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.6400	764,000.00	Member	Buy
14:42:00	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.6400	(764,000.00)	Client	Sell
14:42:07	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	750	750,000	7.7420	5,806,500.00	Client	Buy
14:42:21	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	658	658,000	7.6440	5,029,752.00	Member	Buy
14:42:28	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	75	75,000	7.6420	573,150.00	Member	Buy
14:43:10	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7430	(77,430.00)	Client	Sell
14:43:10	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7430	(77,430.00)		Sell
14:44:00	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	150	150,000	7.7470	(1,162,050.00)		Sell
14:44:00	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	80	80,000	7.7470	(619,760.00)		Sell
14:44:00	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	7.7494	3,874,700.00	Member	Buy
14:44:16	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	7.6380	3,819,000.00	Member	Buy
14:44:33	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	8	8,000	7.7220	61,776.00	Member	Buy
14:44:33	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	8	8,000	7.7220			Sell
14:45:37	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.7225	1,932,375.00	Member	Buy
	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	25,000	7.6295	190,737.50	Member	Buy
	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	7.7555	3,877,750.00	Client	·-
	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	7.7555	(3,877,750.00)		Buy
	\$ / R 19/03/2012 \$ / R 19/03/2012	-		0.00	1	1,000	500	500,000		3,816,500.00	Member	Sell
		Foreign Exchange Future							7.6330			Buy
14:48:27	\$ / R 19/03/2012 \$ / B 10/03/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.7425	(1,935,625.00)		Sell
	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.7490	(1,937,250.00)		Sell
	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	250 450	250,000	7.7490	1,937,250.00	Client	Buy
14:54:40	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	150 150	150,000	7.7450	(1,161,750.00)		Sell
14:54:40	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	150	150,000	7.7450	1,161,750.00	Member	Buy

Page 11 of 20 2012/03/14, 06:02:45PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
14:54:51	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	150	150,000	7.7500	1,162,500.00	Member	Buy
14:54:51	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	150	150,000	7.7500	(1,162,500.00)	Client	Sell
14:54:51	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	8	8,000	7.7500	(62,000.00)		Sell
14:54:51	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	8	8,000	7.7500	62,000.00	Member	Buy
14:56:33	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	44	44,000	7.7505	341,022.00	Member	Buy
14:56:33	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	44	44,000	7.7505	(341,022.00)		Sell
14:58:01	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.7575	(1,939,375.00)		Sell
14:58:01	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.7575	1,939,375.00	Member	Buy
14:58:10	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6530	(7,653.00)		Sell
14:58:55	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.7546	387,730.00	Member	Buy
14:58:55	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.7546	(387,730.00)	Client	Sell
15:01:13	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.6530	53,571.00	Client	Buy
15:01:13	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	6	6,000	7.6530	(45,918.00)		Sell
15:01:17	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	78	78,000	7.6515	596,817.00	Member	Buy
15:01:17	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	78	78,000	7.6515	(596,817.00)	Client	Sell
15:02:37	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	494	494,000	7.6510	3,779,594.00	Member	Buy
15:03:01	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	6	6,000	7.6485	45,891.00	Member	Buy
15:03:19	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.5509	377,545.00	Member	Buy
15:03:19	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	7.6409	(3,820,450.00)		Sell
15:03:38	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6470	(7,647.00)		Sell
15:03:38	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6470	7,647.00	Member	Buy
15:03:38	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.7470	7,747.00	Client	Buy
15:03:38	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.7470	(116,205.00)	Client	Sell
15:03:38	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	14	14,000	7.7470	108,458.00	Member	Buy
15:09:28	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7550	(77,550.00)	Client	Sell
15:09:28	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7550	77,550.00	Client	Buy
15:12:19	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	90	90,000	7.7550	697,950.00	Member	Buy
15:12:19	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	90	90,000	7.7550	(697,950.00)	Client	Sell
15:13:47	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6580	7,658.00	Member	Buy
15:13:47	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6580	(7,658.00)	Client	Sell
15:13:47	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6600	(7,660.00)		Sell
15:13:47	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6600	7,660.00	Member	Buy
15:13:47	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.6600	191,500.00	Member	Buy
15:13:47	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.6600	(191,500.00)	Client	Sell
15:13:56	\$ / R 19/03/2012 \$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6590	7,659.00	Member	Buy
15:13:56	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6590	(7,659.00)		Sell
15:14:47	•	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6600	7,660.00		Buy
	\$ / R 19/03/2012 \$ / R 19/03/2012			0.00	1		1		7.6600			-
15:14:47 15:16:15	\$ / R 19/03/2012 \$ / R 19/03/2012	Foreign Exchange Future Foreign Exchange Future		0.00	1	1,000 1,000	100	1,000 100,000	7.6650	(7,660.00) (766,500.00)		Sell Sell
	\$ / R 19/03/2012 \$ / R 19/03/2012			0.00	1	1,000		100,000	7.6650			
	\$ / R 19/03/2012 \$ / R 19/03/2012	Foreign Exchange Future Foreign Exchange Future		0.00	1	1,000	100 25	25,000	7.6650	766,500.00 191,625.00	Member Member	Buy Buy
	\$ / R 19/03/2012 \$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	25 25	25,000	7.6650			
15:17:25					1	1,000	25 1	1,000	7.0650			Sell
	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future Foreign Exchange Future		0.00	1		1	1,000	7.7645 7.7645	7,764.50 (7,764.50)	Member	Buy
	\$ / R 18/06/2012 \$ / R 19/03/2012	Foreign Exchange Future		0.00 0.00	1	1,000 1,000	1	1,000	7.7645 7.6650	7,665.00	Member	Sell
	\$ / R 19/03/2012 \$ / R 19/03/2012	Foreign Exchange Future			1		1	1,000	7.6650			Buy
13.17.23	ψ / ΙΝ 19/00/2012	i oreign Exchange Future		0.00	ı	1,000	Į	1,000	7.0000	(7,665.00)	Olicill	Sell

Page 12 of 20 2012/03/14, 06:02:45PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
15:17:28	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6670	(7,667.00)	Client	Sell
15:17:28	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6670	7,667.00	Member	Buy
15:17:28	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.6700	191,750.00	Member	Buy
15:17:28	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.6700	(191,750.00)	Client	Sell
15:18:07	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6700	(7,670.00)	Client	Sell
15:18:07	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6700	7,670.00	Member	Buy
15:18:07	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.7700	7,770.00	Client	Buy
15:18:07	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.7700	(7,770.00)	Member	Sell
15:18:16	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	999	999,000	7.6700	7,662,330.00	Member	Buy
15:18:16	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	999	999,000	7.7695	(7,761,730.50)	Member	Sell
15:18:31	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6655	7,665.50	Member	Buy
15:18:31	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6655	(7,665.50)	Client	Sell
15:19:33	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6665	7,666.50	Member	Buy
15:19:33	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	2,000	2,000,000	7.6677	(15,335,400.00)	Member	Sell
15:19:33	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.7710	(7,771.00)	Member	Sell
15:20:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.7640	(54,348.00)	Client	Sell
15:20:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.7640	54,348.00	Member	Buy
15:20:49	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.6665	383,325.00	Client	Buy
15:20:49	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.6665	(383,325.00)	Member	Sell
15:21:08	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.6665	(383,325.00)	Member	Sell
15:21:08	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.6665	383,325.00	Client	Buy
15:25:39	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.7675	233,025.00	Client	Buy
15:25:39	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.7675	(233,025.00)	Client	Sell
15:29:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.7555	775,550.00	Member	Buy
15:29:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.7555	(775,550.00)	Client	Sell
15:30:28	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.7655	232,965.00	Member	Buy
15:30:28	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.7655	(232,965.00)	Client	Sell
15:32:05	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	120	120,000	7.7675	932,100.00	Member	Buy
15:32:05	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	120	120,000	7.7675	(932,100.00)	Client	Sell
15:37:26	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.7625	776,250.00	Member	Buy
15:37:26	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.7625	(776,250.00)	Client	Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.7630	388,150.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.7630	(388,150.00)		Sell
15:38:25	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6665	7,666.50	Member	Buy
15:38:25	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6665	(7,666.50)	Client	Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.7510	38,755.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.7510			Sell
	\$ / R 19/03/2012			0.00	1	1,000	100	100,000	7.7510	, , ,	Member	
	\$ / R 19/03/2012 \$ / R 19/03/2012	Foreign Exchange Future Foreign Exchange Future		0.00	1	1,000	100 100	100,000	7.6520	765,200.00 (765,200.00)		Buy Sell
					1					· · · · · · · · · · · · · · · · · · ·		
	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30 30	30,000 30,000	7.7545 7.7545	232,635.00	Member	Buy
	\$ / R 18/06/2012 \$ / B 18/06/2012	Foreign Exchange Future		0.00		1,000	30			(232,635.00)		Sell
15:52:19	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.7555	155,110.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.7555	(155,110.00)		Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.7620	155,240.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.7620	(155,240.00)		Sell
16:11:03	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6680	(7,668.00)	Client	Sell

Page 13 of 20 2012/03/14, 06:02:45PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
16:11:03	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6680	7,668.00	Member	Buy
16:11:39	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6700	(7,670.00)	Client	Sell
16:11:39	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6700	7,670.00	Member	Buy
16:11:39	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.6700	(30,680.00)	Client	Sell
16:11:39	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.6700	30,680.00	Member	Buy
16:11:39	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	150	150,000	7.7700	(1,165,500.00)	Client	Sell
16:11:39	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	150	150,000	7.7700	1,165,500.00	Member	Buy
16:12:09	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.6733	(76,733.00)	Client	Sell
16:12:09	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.6733	76,733.00	Member	Buy
16:13:22	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6770	7,677.00	Member	Buy
16:13:22	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.6770	(7,677.00)	Client	Sell
16:14:39	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.6800	(153,600.00)	Client	Sell
16:14:46	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	45	45,000	7.6800	345,600.00	Client	Buy
16:14:46	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.6800	(192,000.00)	Client	Sell
16:15:52	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.6790	230,370.00	Member	Buy
16:15:52	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.6790	(230,370.00)	Client	Sell
16:15:53	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.7800	(116,700.00)	Client	Sell
16:15:53	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.6810	192,025.00	Member	Buy
16:15:54	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.6815	192,037.50	Member	Buy
16:15:54	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.7800	116,700.00	Member	Buy
16:15:54	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.7800	(389,000.00)	Client	Sell
16:16:54	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	750	750,000	7.6900	(5,767,500.00)	Member	Sell
16:16:54	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	750	750,000	7.6900	5,767,500.00	Member	Buy
16:17:39	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.7835	(233,505.00)	Client	Sell
16:17:39	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.7835	233,505.00	Member	Buy
16:27:04	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.7740	1,943,500.00	Member	Buy
16:27:21	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	7.6759	3,837,950.00	Member	Buy
16:27:56	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.5759	378,795.00	Member	Buy
16:27:56	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	7.6659	(3,832,950.00)	Client	Sell
16:31:20	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.7040	192,600.00	Member	Buy
16:31:20	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.7670	(1,941,750.00)	Client	Sell
16:34:19	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1,658	1,658,000	7.6268	12,645,234.40	Member	Buy
16:34:19	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1,658	1,658,000	7.6268	(12,645,234.40)	Client	Sell
16:40:00	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.6715	115,072.50	Member	Buy
16:40:00	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.6715	(115,072.50)	Client	Sell
16:40:09	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.6715	(115,072.50)	Client	Sell
16:40:09	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.6715	115,072.50	Member	Buy
	\$ / R 19/03/2012 \$ / R 19/03/2012	•		0.00	1	1,000			7.6715	115,072.50	Member	
16:40:15	·	Foreign Exchange Future Foreign Exchange Future		0.00	1	1,000	15 15	15,000 15,000	7.6715	(115,072.50)	Client	Buy Sell
16:42:24		Foreign Exchange Future		0.00		1,000		5,000	7.7695	38,847.50		
16:42:24	\$ / R 18/06/2012	Foreign Exchange Future			1 1		5 5	5,000	7.7695		Member Client	Buy Sell
		•		0.00		1,000				(38,847.50)		
16:44:05 16:44:05	\$ / R 19/03/2012 \$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.6705 7.6705	767,050.00	Member	Buy
16:44:05	\$ / R 19/03/2012 \$ / B 19/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.6705	(767,050.00)		Sell
16:46:09	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future Foreign Exchange Future		0.00	1	1,000	215	215,000	7.7684	1,670,206.00 (1,670,206.00)	Client	Buy
16:46:09	\$ / R 18/06/2012 \$ / R 18/06/2012	•		0.00	1	1,000	215	215,000	7.7684		Member	Sell
16:47:09	φ / K 10/U0/2U12	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.7625	(38,812.50)	Cilent	Sell

Page 14 of 20 2012/03/14, 06:02:45PM

16:48:36 \$ / 16:48:36 \$ / 16:54:05 \$ / 16:55:52 \$ / 16:55:52 \$ / 16:58:16 \$ /	/ R 18/06/2012 / R 19/03/2012 / R 19/03/2012 / R 19/03/2012 / R 18/06/2012 / R 18/06/2012 / R 18/06/2012 / R 18/06/2012	Foreign Exchange Future		0.00 0.00 0.00	1	1,000	5	5,000	7 7005			
16:48:36 \$ / 16:54:05 \$ / 16:54:05 \$ / 16:55:52 \$ / 16:55:52 \$ / 16:58:16 \$ /	/ R 19/03/2012 / R 19/03/2012 / R 18/06/2012 / R 18/06/2012 / R 18/06/2012 / R 18/06/2012	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future		0.00	•	4.00=		5,000	7.7625	38,812.50	Client	Buy
16:54:05 \$ / 16:54:05 \$ / 16:55:52 \$ / 16:55:52 \$ / 16:58:16 \$ /	/ R 19/03/2012 / R 18/06/2012 / R 18/06/2012 / R 18/06/2012 / R 18/06/2012	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future				1,000	84	84,000	7.6630	643,692.00	Member	Buy
16:54:05 \$ / 16:55:52 \$ / 16:55:52 \$ / 16:58:16 \$ /	/ R 18/06/2012 / R 18/06/2012 / R 18/06/2012 / R 18/06/2012	Foreign Exchange Future Foreign Exchange Future			1	1,000	84	84,000	7.6630	(643,692.00)	Client	Sell
16:55:52 \$ / 16:55:52 \$ / 16:58:16 \$ /	/ R 18/06/2012 / R 18/06/2012 / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	6	6,000	7.6665	45,999.00	Member	Buy
16:55:52 \$ / 16:58:16 \$ /	/ R 18/06/2012 / R 18/06/2012	0 0		0.00	1	1,000	6	6,000	7.7650	(46,590.00)	Client	Sell
16:58:16 \$ /	/ R 18/06/2012	Foreign Evolungo Euturo		0.00	1	1,000	70	70,000	7.7700	543,900.00	Member	Buy
·		Foreign Exchange Future		0.00	1	1,000	70	70,000	7.7700	(543,900.00)	Client	Sell
16:58:16 \$ /		Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7680	(77,680.00)	Client	Sell
	/ R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7680	77,680.00	Member	Buy
16:59:22 \$ /	/ R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7670	77,670.00	Member	Buy
16:59:22 \$ /	/ R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7670	(77,670.00)	Client	Sell
17:20:46 \$ /	/ R 19/03/2012	Foreign Exchange Future	Р	7.65	1	1,000	1,000	1,000,000	41.5000	41,500,000.00	Client	Buy
17:20:46 \$ /	/ R 19/03/2012	Foreign Exchange Future	Р	7.65	1	1,000	1,000	1,000,000	41.5000	(41,500,000.00)	Member	Sell
Total Futures	es				321		96,692	96,691,500		736 358 154.85		
Total Options	ns				1		1,000	1,000,000		41 500 000.00		
Total for \$ / F	R Foreign Exchange Fu	iture			322		97,692	97,691,500		777,858,154.85		
14:22:12 \$/	/ R MAXI 18/06/2012	Foreign Exchange Future		0.00	1	100,000	5	500,000	7.7170	(3,858,500.00)	Member	Sell
14:22:12 \$ /	/ R MAXI 18/06/2012	Foreign Exchange Future		0.00	1	100,000	5	500,000	7.7170	3,858,500.00	Member	Buy
Total Futures	es				1		5	500,000		3 858 500.00		
Total Options	ns											
Total for \$ / F	R MAXI Foreign Exchar	nge Future			1		5	500,000		3,858,500.00		
10:33:34 £/	/ R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	12.0400	(60,200.00)	Client	Sell
10:33:35 £/	/ R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.8900	59,450.00	Member	Buy
11:43:22 £/	/ R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	205	205,000	11.8900	(2,437,450.00)	Member	Sell
11:43:22 £/	/ R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	155	155,000	11.8900	1,842,950.00	Client	Buy
11:43:22 £/	/ R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	155	155,000	12.0425	(1,866,587.50)	Client	Sell
11:43:22 £/	/ R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	205	205,000	12.0425	2,468,712.50	Member	Buy
11:46:47 £/	/ R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	11.8900	594,500.00	Client	Buy
11:48:17 £/	/ R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	12.0425	(602,125.00)	Client	Sell
12:24:15 £/	/ R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	12.0430	180,645.00	Member	Buy
12:24:15 £/	/ R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	12.0430	(180,645.00)	Client	Sell
13:10:03 £/	/ R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.8910	118,910.00	Client	Buy
13:10:03 £/	/ R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	12.0180	(120,180.00)	Client	Sell
13:10:03 £/	/ R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	11.8620	(11,862.00)	Client	Sell
13:10:03 £/	/ R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	12.0410	12,041.00	Client	Buy
13:10:03 £/	/ R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	477	477,000	12.0410	(5,743,557.00)	Member	Sell
13:10:03 £/	/ R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	12.0180	120,180.00	Member	Buy
13:10:03 £/	/ R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.8910	(118,910.00)	Member	Sell
	/ R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	477	477,000	11.8620	5,658,174.00	Member	Buy
	/ R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	60	60,000	11.8620	(711,720.00)		Sell
	/ R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	40	40,000	11.8620	(474,480.00)		Sell

Page 15 of 20 2012/03/14, 06:02:45PM

13:37:18 13:37:18 13:37:19 13:37:19	£ / R 19/03/2012 £ / R 19/03/2012	Foreign Exchange Future		Trades	Value		Nominal	Price	in Rand	ivbe	Sell
13:37:18 13:37:18 13:37:19 13:37:19	£ / R 19/03/2012	Foreign Exchange Future						FIICE		-71	
13:37:18 13:37:19 13:37:19		r oroigir Exoriarigo r ataro	0.00	1	1,000	150	150,000	11.8620	(1,779,300.00)	Client	Sell
13:37:19 13:37:19		Foreign Exchange Future	0.00	1	1,000	40	40,000	11.8620	(474,480.00)	Client	Sell
13:37:19	£ / R 19/03/2012	Foreign Exchange Future	0.00	1	1,000	46	46,000	11.8620	(545,652.00)	Client	Sell
	£ / R 19/03/2012	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.8620	(118,620.00)	Client	Sell
13:37:10	£ / R 19/03/2012	Foreign Exchange Future	0.00	1	1,000	8	8,000	11.8620	(94,896.00)	Client	Sell
10.01.10	£ / R 19/03/2012	Foreign Exchange Future	0.00	1	1,000	40	40,000	11.8620	(474,480.00)	Client	Sell
13:37:19	£ / R 19/03/2012	Foreign Exchange Future	0.00	1	1,000	2	2,000	11.8620	(23,724.00)	Client	Sell
13:37:19	£ / R 19/03/2012	Foreign Exchange Future	0.00	1	1,000	2	2,000	11.8620	(23,724.00)	Client	Sell
13:37:19	£ / R 19/03/2012	Foreign Exchange Future	0.00	1	1,000	8	8,000	11.8620	(94,896.00)	Client	Sell
13:37:19	£ / R 19/03/2012	Foreign Exchange Future	0.00	1	1,000	13	13,000	11.8620	(154,206.00)	Client	Sell
13:37:19	£ / R 19/03/2012	Foreign Exchange Future	0.00	1	1,000	3	3,000	11.8620	(35,586.00)	Client	Sell
13:37:19	£ / R 19/03/2012	Foreign Exchange Future	0.00	1	1,000	20	20,000	11.8620	(237,240.00)	Client	Sell
13:37:19	£ / R 19/03/2012	Foreign Exchange Future	0.00	1	1,000	6	6,000	11.8620	(71,172.00)	Client	Sell
13:37:19	£ / R 19/03/2012	Foreign Exchange Future	0.00	1	1,000	16	16,000	11.8620	(189,792.00)	Client	Sell
13:37:19	£ / R 19/03/2012	Foreign Exchange Future	0.00	1	1,000	2	2,000	11.8620	(23,724.00)	Client	Sell
13:37:19	£ / R 19/03/2012	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.8620	(118,620.00)	Client	Sell
13:45:44	£ / R 18/06/2012	Foreign Exchange Future	0.00	1	1,000	8	8,000	12.0410	96,328.00	Client	Buy
13:45:44	£ / R 18/06/2012	Foreign Exchange Future	0.00	1	1,000	40	40,000	12.0410	481,640.00	Client	Buy
13:45:44	£ / R 18/06/2012	Foreign Exchange Future	0.00	1	1,000	40	40,000	12.0410	481,640.00	Client	Buy
13:45:44	£ / R 18/06/2012	Foreign Exchange Future	0.00	1	1,000	2	2,000	12.0410	24,082.00	Client	Buy
13:45:44	£ / R 18/06/2012	Foreign Exchange Future	0.00	1	1,000	46	46,000	12.0410	553,886.00	Client	Buy
13:45:44	£ / R 18/06/2012	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.0410	120,410.00	Client	Buy
13:45:44	£ / R 18/06/2012	Foreign Exchange Future	0.00	1	1,000	16	16,000	12.0410	192,656.00	Client	Buy
13:45:44	£ / R 18/06/2012	Foreign Exchange Future	0.00	1	1,000	2	2,000	12.0410	24,082.00	Client	Buy
13:45:44	£ / R 18/06/2012	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.0410	120,410.00	Client	Buy
13:45:44	£ / R 18/06/2012	Foreign Exchange Future	0.00	1	1,000	6	6,000	12.0410	72,246.00	Client	Buy
13:45:44	£ / R 18/06/2012	Foreign Exchange Future	0.00	1	1,000	20	20,000	12.0410	240,820.00	Client	Buy
13:45:44	£ / R 18/06/2012	Foreign Exchange Future	0.00	1	1,000	60	60,000	12.0410	722,460.00	Client	Buy
13:45:44	£ / R 18/06/2012	Foreign Exchange Future	0.00	1	1,000	13	13,000	12.0410	156,533.00	Client	Buy
13:45:44	£ / R 18/06/2012	Foreign Exchange Future	0.00	1	1,000	8	8,000	12.0410	96,328.00	Client	Buy
13:45:44	£ / R 18/06/2012	Foreign Exchange Future	0.00	1	1,000	3	3,000	12.0410	36,123.00	Client	Buy
13:45:44	£ / R 18/06/2012	Foreign Exchange Future	0.00	1	1,000	40	40,000	12.0410	481,640.00	Client	Buy
13:45:44	£ / R 18/06/2012	Foreign Exchange Future	0.00	1	1,000	150	150,000	12.0410	1,806,150.00	Client	Buy
13:45:44	£ / R 18/06/2012	Foreign Exchange Future	0.00	1	1,000	2	2,000	12.0410	24,082.00	Client	Buy
14:22:15	£ / R 19/03/2012	Foreign Exchange Future	0.00	1	1,000	2	2,000	11.9500	(23,900.00)	Client	Sell
14:22:15	£ / R 19/03/2012	Foreign Exchange Future	0.00	1	1,000	2	2,000	11.9500	23,900.00	Member	Buy
14:34:44	£ / R 19/03/2012	Foreign Exchange Future	0.00	1	1,000	2	2,000	11.9900	23,980.00	Member	Buy
14:34:44	£ / R 19/03/2012	Foreign Exchange Future	0.00	1	1,000	2	2,000	11.9900	(23,980.00)	Client	Sell
	£ / R 19/03/2012	Foreign Exchange Future	0.00	1	1,000	296	296,000	11.9700	3,543,120.00	Member	Buy
	£ / R 19/03/2012	Foreign Exchange Future	0.00	1	1,000	2	2,000	12.0000			Sell
	£ / R 19/03/2012	Foreign Exchange Future	0.00	1	1,000	2	2,000	12.0000	24,000.00	Member	Buy
	£ / R 19/03/2012	Foreign Exchange Future	0.00	1	1,000	50	50,000	11.9840	599,200.00	Member	Buy
	£ / R 19/03/2012	Foreign Exchange Future	0.00	1	1,000	50	50,000	11.9825	599,125.00	Member	Buy
	£ / R 18/06/2012	Foreign Exchange Future	0.00	1	1,000	25	25,000	12.1440	(303,600.00)		Sell
	£ / R 18/06/2012	Foreign Exchange Future	0.00	1	1,000	25	25,000	12.1440	303,600.00	Member	Buy
	£ / R 19/03/2012	Foreign Exchange Future	0.00	1	1,000	100	100,000	11.9895	1,198,950.00	Member	Buy

Page 16 of 20 2012/03/14, 06:02:45PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand		Buy/ Sell
14:51:11	£ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	11.9940	11,994.00	Member	Buy
14:51:11	£ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	11.9940	(11,994.00)	Client	Sell
14:51:13	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	12.1470	(182,205.00)	Client	Sell
14:51:13	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	12.1470	182,205.00	Member	Buy
14:51:15	£ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	11.9950	(23,990.00)	Client	Sell
14:51:15	£ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	11.9950	23,990.00	Member	Buy
14:53:26	£ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	11.9920	47,968.00	Member	Buy
15:14:26	£ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	12.0235	1,202,350.00	Member	Buy
15:14:26	£ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	150	150,000	12.0210	1,803,150.00	Member	Buy
15:17:20	£ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	12.0335	1,203,350.00	Member	Buy
15:17:21	£ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	150	150,000	12.0330	1,804,950.00	Member	Buy
15:54:18	£ / R 18/06/2012	Foreign Exchange Future	Р	11.10	1	1,000	24,000	24,000,000	40.0000	960,000,000.00	Member	Buy
15:54:18	£ / R 18/06/2012	Foreign Exchange Future	С	12.50	1	1,000	24,000	24,000,000	140.4200	3,370,080,000.00	Member	Buy
15:54:18	£ / R 18/06/2012	Foreign Exchange Future	Р	11.10	1	1,000	6,000	6,000,000	40.0000	(240,000,000.00)	Client	Sell
15:54:18	£ / R 18/06/2012	Foreign Exchange Future	С	12.50	1	1,000	6,000	6,000,000	140.4200	(842,520,000.00)	Client	Sell
16:28:49	£ / R 18/06/2012	Foreign Exchange Future	Р	11.10	1	1,000	18,000	18,000,000	40.0000	(720,000,000.00)	Client	Sell
16:29:08	£ / R 18/06/2012	Foreign Exchange Future	С	12.50	1	1,000	18,000	18,000,000	140.4200	(2,527,560,000.00)	Client	Sell
16:34:41	£ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	11.9900	11,990,000.00	Member	Buy
16:34:41	£ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	11.9900	(11,990,000.00)	Client	Sell
16:39:00	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	12.1840	(60,920.00)	Client	Sell
16:39:00	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	12.1120	121,120.00	Client	Buy
16:39:00	£ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.9595	(119,595.00)	Client	Sell
16:39:00	£ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	12.0290	60,145.00	Member	Buy
16:45:05	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	12.1800	24,360.00	Client	Buy
16:45:05	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	12.1800	(24,360.00)	Client	Sell
16:45:48	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	8	8,000	12.1800	(97,440.00)	Member	Sell
16:45:48	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	8	8,000	12.1800	97,440.00	Client	Buy
16:54:58	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	12.1740	(24,348.00)	Client	Sell
16:54:58	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	12.1740	24,348.00	Member	Buy
17:14:38	£ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1,470	1,470,000	12.0856	(17,765,832.00)	Member	Sell
17:14:38	£ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1,470	1,470,000	12.0856	17,765,832.00	Client	Buy
Total Futu	ires				46		4,450	4,450,000		53 465 074.00		
Total Opti	ons				3		48,000	48,000,000		4 330 080 000.00		
Total for £	: / R Foreign Exchange F	uture			49		52,450	52,450,000		4,383,545,074.00		
14:03:55	¥ / R 18/06/2012	Foreign Exchange Future		0.00	1	100,000	8	800,000	0.0910	72,800.00	Member	Buy
14:03:55	¥ / R 18/06/2012	Foreign Exchange Future		0.00	1	100,000	8	800,000	0.0910	(72,800.00)	Client	Sell
Total Futu	ires				1		8	800,000		72 800.00		
Total Opti	ons											
Total for ¥	/ R Foreign Exchange F	uture			1		8	800,000		72,800.00		
	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.0000	250,000.00		Buy
9:01:28	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.0000	(250,000.00)	Member	Sell

Page 17 of 20 2012/03/14, 06:02:45PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
10:27:20	€ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	83	83,000	9.8750	819,625.00	Client	Buy
10:27:20	€ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	83	83,000	9.8750	(819,625.00)	Member	Sell
11:12:46	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.1470	(101,470.00)	Member	Sell
11:12:46	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.1470	101,470.00	Client	Buy
11:41:29	€ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	167	167,000	9.8750	(1,649,125.00)	Member	Sell
11:41:29	€ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	167	167,000	9.8750	1,649,125.00	Client	Buy
11:41:29	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	167	167,000	10.0075	1,671,252.50	Member	Buy
11:41:29	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	167	167,000	10.0075	(1,671,252.50)	Client	Sell
	€ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	9.8600	(9,860.00)		Sell
	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	10.0295	10,029.50	Client	Buy
	€ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	9.9050	9,905.00	Client	Buy
	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	9.9985	(9,998.50)	Client	Sell
	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	300	300,000	10.0295	(3,008,850.00)	Member	Sell
	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	97	97,000	9.9985	969,854.50	Member	Buy
	€ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	97	97,000	9.9050	(960,785.00)	Member	Sell
	€ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	300	300,000	9.8600	2,958,000.00	Member	Buy
	€ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	70	70,000	9.9050	693,350.00	Client	Buy
	€ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	9.9050	99,050.00	Client	Buy
	€ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	16	16,000	9.9050	158,480.00	Client	Buy
	€ / R 19/03/2012 € / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	150	150,000	9.8600	(1,479,000.00)	Client	Sell
	€ / R 19/03/2012 € / R 19/03/2012			0.00	1	1,000	9	9,000	9.8600	(88,740.00)		Sell
	€ / R 19/03/2012 € / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	11	11,000	9.8600	, ,		Sell
	€ / R 19/03/2012 € / R 19/03/2012	Foreign Exchange Future		0.00	1		10			(108,460.00)		
		Foreign Exchange Future			1	1,000		10,000	9.8600	(98,600.00)		Sell
	€ / R 19/03/2012	Foreign Exchange Future		0.00	•	1,000	3	3,000	9.8600	(29,580.00)		Sell
	€ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	9.8600	(295,800.00)		Sell
	€ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	12	12,000	9.8600	(118,320.00)		Sell
	€ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	9.8600	(29,580.00)	Client	Sell
	€ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	9.8600	(295,800.00)		Sell
	€ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	9.8600	(197,200.00)		Sell
	€ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	21	21,000	9.8600	(207,060.00)	Client	Sell
	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	12	12,000	10.0295	120,354.00	Client	Buy
	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.0295	100,295.00	Client	Buy
	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	11	11,000	10.0295	110,324.50	Client	Buy
13:43:10	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	9	9,000	10.0295	90,265.50	Client	Buy
	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	150	150,000	10.0295	1,504,425.00	Client	Buy
	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	10.0295	30,088.50	Client	Buy
13:43:10	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	10.0295	300,885.00	Client	Buy
	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	21	21,000	10.0295	210,619.50	Client	Buy
	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	10.0295	200,590.00	Client	Buy
	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	10.0295	300,885.00	Client	Buy
	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	10.0295	30,088.50	Client	Buy
	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	70	70,000	9.9985	(699,895.00)		Sell
	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	16	16,000	9.9985	(159,976.00)		Sell
	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	9.9985	(99,985.00)		Sell
	€ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	9.9395	(9,939.50)		Sell
13:50:35	€ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	9.9395	9,939.50	Client	Buy

Page 18 of 20 2012/03/14, 06:02:45PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
13:51:00	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	10.0640	10,064.00	Member	Buy
13:51:00	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	10.0640	(10,064.00)	Client	Sell
14:35:49	€ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	9.9830	249,575.00	Member	Buy
14:39:31	€ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	9.9760	249,400.00	Member	Buy
14:39:31	€ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	9.9795	(498,975.00)	Client	Sell
14:46:22	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.1025	101,025.00	Member	Buy
14:46:22	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.1025	(101,025.00)	Client	Sell
15:10:46	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.1240	101,240.00	Member	Buy
15:10:46	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.1240	(101,240.00)	Client	Sell
Total Futu	ıres				29		1,318	1,318,000		13 110 205.50		
Total Opti	ions											
Total for €	E / R Foreign Exchange Futur	e			29		1,318	1,318,000		13,110,205.50		
12:09:38	AU\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.9180	23,754.00	Member	Buy
12:09:38	AU\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.9180	(23,754.00)	Client	Sell
13:10:03	AU\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.9220	(31,688.00)	Client	Sell
13:10:03	AU\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.9700	31,880.00	Client	Buy
13:10:03	AU\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	96	96,000	7.9220	760,512.00	Member	Buy
13:10:03	AU\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	96	96,000	7.9700	(765,120.00)	Member	Sell
13:31:21	AU\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.9220	(79,220.00)	Client	Sell
13:31:21	AU\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.9220	(55,454.00)	Client	Sell
13:31:21	AU\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	75	75,000	7.9220	(594,150.00)	Client	Sell
13:41:51	AU\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.9700	79,700.00	Client	Buy
13:41:51	AU\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.9700	55,790.00	Client	Buy
13:41:51	AU\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	75	75,000	7.9700	597,750.00	Client	Buy
15:22:58	AU\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0010	4,000,500.00	Member	Buy
15:22:58	AU\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0010	(4,000,500.00)	Client	Sell
Total Futu	ires				7		695	695,000		5 549 886.00		
Total Opti	ions											
Total for A	AU\$ / R Foreign Exchange Fu	ture			7		695	695,000		5,549,886.00		
15:22:11	CF CANDO CABA 18/06/2012	Can-Do Future		0.00	1	1,000	2,000	2,000,000	0.1000	200,000.00	Client	Buy
15:22:11	CF CANDO CABA 18/06/2012	Can-Do Future		0.00	1	1,000	8,000	8,000,000	0.1000	(800,000.00)	Member	Sell
16:27:46	CF CANDO CABA 18/06/2012	Can-Do Future		0.00	1	1,000	6,000	6,000,000	0.1000	600,000.00	Client	Buy
Total Futu	ires				2		8,000	8,000,000		800 000.00		
Total Opti	ons											
Total for 0	CF CANDO CABA Can-Do Fut	ture			2		8,000	8,000,000		800,000.00		
15:22:11	CF CANDO CABB 18/06/2012	Can-Do Future		0.00	1	1,000	2,000	2,000,000	0.1000	200,000.00	Client	Buy
15:22:11	CF CANDO CABB 18/06/2012	Can-Do Future		0.00	1	1,000	8,000	8,000,000	0.1000	(800,000.00)		Sell
16:27:23	CF CANDO CABB 18/06/2012	Can-Do Future		0.00	1	1,000	6,000	6,000,000	0.1000	600,000.00	Client	Buy

Page 19 of 20 2012/03/14, 06:02:45PM

Matched Con Time	ntract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
Total Futures					2		8,000	8,000,000		800 000.00		
Total Options												
Total for CF CA	NDO CABB Can-Do Fut	ure			2		8,000	8,000,000		800,000.00		
15:22:11 CF CA	ANDO CABC 18/06/2012	Can-Do Future		0.00	1	1,000	4,000	4,000,000	0.0800	320,000.00	Client	Buy
	ANDO CABC 18/06/2012	Can-Do Future		0.00	1	1,000	16,000	16,000,000	0.0800	(1,280,000.00)	Member	Sell
16:28:03 CF CA	ANDO CABC 18/06/2012	Can-Do Future		0.00	1	1,000	12,000	12,000,000	0.0800	960,000.00	Client	Buy
Total Futures					2		16,000	16,000,000		1 280 000.00		
Total Options												
Total for CF CA	NDO CABC Can-Do Fut	ure			2		16,000	16,000,000		1,280,000.00		
15:22:11 CF CA	ANDO CABD 18/06/2012	Can-Do Future		0.00	1	1,000	4,000	4,000,000	0.0400	160,000.00	Client	Buy
15:22:11 CF CA	ANDO CABD 18/06/2012	Can-Do Future		0.00	1	1,000	16,000	16,000,000	0.0400	(640,000.00)	Member	Sell
16:28:23 CF CA	ANDO CABD 18/06/2012	Can-Do Future		0.00	1	1,000	12,000	12,000,000	0.0400	480,000.00	Client	Buy
Total Futures					2		16,000	16,000,000		640 000.00		
Total Options												
Total for CF CA	NDO CABD Can-Do Fut	ure			2		16,000	16,000,000		640,000.00		
17:14:38 CHF /	/ R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	6,045	6,045,000	8.2867	50,093,101.50	Member	Buy
	/ R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	6,045	6,045,000	8.2867	(50,093,101.50)		Sell
Total Futures					1		6,045	6,045,000		50 093 101.50		
Total Options												
Total for CHF / F	R Foreign Exchange Fu	ture			1		6,045	6,045,000		50,093,101.50		
Total Futures					411		157,213	158,499,500		866 027 721.85		
Total Options					4		49,000	49,000,000	4 371 580 000.00			
Grand Total fo	or all Instruments				415		206,213	207,499,500	5,237,607,721.85			